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QUESTION 1

Refer to the exhibit. 

Which statement about the join process of the access point is true? 

A. The AP failed to join because the self-signed certificate of the AP was not correct on the controller. 

B. The time on the controller is outside of the certificates validity time interval so the join phase failed. 

C. The AP moved from this controller to its primary controller. 

D. The AP successfully joined the controller. 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

Latest 300-370 Dumps | 300-370 Practice Test | 300-370 Braindumps                                2 / 7

https://www.pass4itsure.com/300-370.html
https://www.pass4itsure.com/300-370.html
https://www.pass4itsure.com/300-370.html


https://www.pass4itsure.com/300-370.html
2022 Latest pass4itsure 300-370 PDF and VCE dumps Download

An engineer has determined that during a recent controller failure, some access points did not fail over to their
secondary controller, which has sufficient licenses for all APs. The controllers are not in a mobility group, but have A
records for their hostnames in DNS. 

Using these high availability settings, which option is the most likely cause of this issue? 

A. The AP failover priority was not set high enough. 

B. The controllers must be in the same mobility group. 

C. DNS hostnames are required to be FQDN. 

D. The secondary controller IP address is incorrect. 

Correct Answer: A 

 

QUESTION 3

An alarm is reporting that one of four ports of a lag group have gone down on a wireless LAN controller. Which
troubleshooting methodology can be used to begin the troubleshooting process? 

A. shoot from the hip 

B. bottom-up 

C. top-down 

D. follow the path 

E. divide and conquer 

Correct Answer: B 

 

QUESTION 4

You are troubleshooting an AP that fails to join a WLC. Which step of the DTLS handshake is first when establishing a
secure CAPWAP connection? 
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A. ServerHello 

B. HelloVerifyRequest 

C. Server-ChangeCipherSpec 

D. ClientHello 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibits. An engineer is troubleshooting connectivity issues on the guest network. 
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Which cause of the issue is true? 

A. The spanning-tree portfast trunk command must be removed. 

B. The switchport mode must be configured as access. 

C. The interface group has incorrect mappings. 

D. The trunk port does not have the correct VLANs allowed. 

Correct Answer: D 
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